| Efficiency vs Dxy |

.02
O L . . . . | . . . .
0 e . R
< A
L e
R e A A A
e A R
ZCTPICHNS SN R
TR A . —
0008
0006f

eff

T2 0 0 e e o e e
0002

Ratio

J.Q :I 111 + 1111 + 1111 + 1111 + 1111 I 111 + 1111 + 1111 + 1111 + 1111
I ARRRRE SEELEE-ERIRRLY | O EL SR LE EL R SIEREI SRS
e R L R L e

0 E50-15-10 =50 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TTbhase

| Efficiency vs Dz |

ND.05
1S) N N N N N

L R S
o ; : : ; :

P04
O . IS . N N

G035 e Fpoeeeees e ool
o : : : :

Ll RS AR | TIEES SRS I SO S
0.025F il [ f
NN S 1|11 81—
LT R S 111 61 B S S—
R SR N N 1113 . —
0,005+ ffi bt U

Ratio

—— DQM_mkFit_TT retrainOldFiles125 v2_prelimWP_5iter

10

H
!

0.5

2030
TP dz (cm)



	Contents
	Page 1


